Example: (dr+ Ty (92" — 122y — 45°)
= 4o+ Ty) 192" )+ (4o +Ty) (—12xy) +(da+ Ty —d)

= (4o ){Qa®) + ( Ty )(9o®) + (do) (1200 ) + (T ) (- 1200 ) + (e ) (-day®) + Ty W -da°)
= 362" + 63"y — 4827y — Sday® — 162y~ — 28y°
= 36a" + 152"y — 10027 — 28y°

Example: (3z—5)*=(3z—5)(3x—5)
=(3x){3x—5)+(-H)(3x—5)
=" — 150 — 15 +25

=0z"— 30x 425

Example: (3x—57=(3x—5)(3x—5)°

We make use of the answer from the previous problem:

= {3z —5)(92"— 30x +-25)

= (3x)(92* — 80z +25) + (-5 )(9x® — 302 + 26)

= (3 ) 92" ) + (32 ) (302 ) + (B )(25) + (-5} 9z*) +(-B)(-30x) + (-5)(25)
= 2T — 002" + Tha — 4ba” + 160z — 125

= 272" — 136" + 2250 — 125



